BR =t wsamsits
[ %553 Eiaas o
B E (EAERERE. BRI E) « R .
TR, BRFH TR %




Bl == usomsien

(51 o Bl ] Hh 5202249 #AW] R AT LE AP 8 B A
3000/ ;s 5H1H B &AT EIEA1620 5% 12H 1H Bl E iE
FET20 Fi i, VAR R NER T2 F . %A 5] 244F FF s F
2010570 RE 1A A §% H vH B M YScas B I TRIA .
2022 F FEEEA TR WM AN C ) .

A.0.47c/f  B.0.570//%

C.0.527u/Hx D.0.67n/f%



BR =t wsamsits

E%: B

5 » R T R 1
b 2022F BEARFRINE = Trermrommmersmn

B 2010
3000+ 1620 x-S — 720 x L
12 12

=0. 5./ /% -



BE ot wsawsiem

(5] « Bzl ] o0& 5 K fatndh, geWisa Ak
R FIFE T R 2 ¢ ) o

A T2

B. B Wi i

C. Bk i F] 2

D. FER 15T~




BR =3 wxamsih

. A

K, RN B EH X S VI s, Rz, R X1z
SUFITERIK. B, WERFHE, IR Tk ERR

iR, THE SRR, Ui B T 2B S KRG k)N . #CiEA
i,



BE ot wsawsiem

(5]« FiEA]) K EHARBRET I A200T, HEKkEE
100 /5 /%, #FE400 /570, #8500 /570, M EZEN
C ).

A 4

B. 5

C. 10

D. 20
2 A

WEbT: M{FR ="M/ 8RFEE~=20/ (500/100)
=4, WIEATN,



BE =15 wsamsits

[« B ]) HEMBEERIER, FHEEALTBR
o, FAHIAE TS EREZ ¢ D .

A. PEAF IR

B. iz {7 HIAX

C. I ¥ 151

D. N BLIE

EE: A

T AR I 7 18 R B 2 SR L 4 R e i 2 U
DR, HEEAL: RS A R G ARG A A




BE s wsomsien

(5] « 2@l ] RIEARER, SRR LIS
feE), MNiERBERERAG, MR TRASERA ¢ D .

A. R AGIE

B. AT A\ A fii

C. ANA] B It e ik

D. iz JAX

Z22: ABD

fFENT: WA B R EEAE: TR AR . ARBGIE
A IS . AT AL e A Re e i o i i, A58
A Ml B 38 % A AR




BR =t wsamsits

(75 4] NV EREFU AT Tk
{7 577 S 23 =5 MU A 38 XU 517 A e R XA SR 4K
22 HT R INE = B 5 13 2 A P2 B A 5 ] O BCT
AN



BE ot wsawsiem
[ « 22 58) Faal—FKahial, FrBERmT:

TE—: ARWMSIREWT: CFpfi: Jion)
g 5 M AR

T | FR F] FR

%4 |4400 |4000 |FEEAMEEX 5700 5500

MISKE 14000  [6000 N7 A5F  EK 3500 4500

% 4500 5500 K HAfE K 8300 7400
EWFS  |17900 | 17400 [fAEA 20000 20000

LB~ 8000 | 8000 B A7 I A 1300 3500
wrEEit (38800 40900 | ffii EAGARME AT | 38800 40900




BE s wsomsien
e 2020 B RN 50000 /57T, B AR 40000

J17t,
PR = 20205ENAS KR E R AN 36 K, —HE4%IB360K
&

PR FliE20214F B kR A KA 7000077 76, 1 FE
NT000 /5 76, FliEE R N40%, %2020 KA MK 4.
NSO R 75T NATIKER 58 IR ELB 8 RAE . 64T,
FEEEK, g AIARR, AR FE20215F1E N g %
P 6000 1 TG .



Bl == usomsien

wh L W TAMRR SR, ARIERLEERTRS,
HARRGE, ZEmEAIZ9%, BEAFRB—X, B —REEAR, K
1T 52 3%2%, VAT Fi#£25%.

P

(1) HRAEER—, HH2020FEFERNRENEL T, #HENE
%, WathE,

AR R R —MER =, 1H5E20205F B = AR MERR
i IFEEL




BR =t wsamsits

(3) WRIETR—. TR TR =, 112020/ Bk
kKB, A AEY. £ERY. HeAEN.

(4) THE2021F 5N R TR E.

(5) THEMFREARRAE,




BE o ta wmsavsim

|

Mt = (4000+6000+5500) / (5500+4500) =
1. 55

EBELFE = (4000+6000) / (5500+4500) =1

4t 2 =4000/ (550044500) =0. 4

B B2 =50000/[ (38800+40900) /2] =1. 25

AR 2T E =40900/ (20000+3500) =1.74

WK 2R E #E = (4000+6000) /2]1/ (50000/360) =

36 (K)



BR =t wsamsits

Bk . MWK K #5 2% =50000/[ (4000+6000) /2]=10
(D
R USCK % 4% B =360/10 =36 (R)
A= (4500+5500) /2]1/ (40000/360) =45
(R)
o #F: FIREEE=40000/[ (4500455000 /2] =8 (¥X)
T H=360/8=45 (K)
ZE A =36+45=81 (K)
P4 =45+36—36=45 (R)




BR =t wsamsits

(4) BN KZE = (70000—50000) /50000=40%

TEBINE £ 8= (4000+6000+5500—4500) X 40%
+6000=10400 (J/570) B AU &35 0% =7000 X 40%= 2800
(375

A1 Rl % 7 R B =10400—2800=7600 (J37T)

(5) RFHEARAZLE =9%X (1—25%) / (1—2%) =
6. 89%




i WA
THANK YOU




